



Thynk Unlimited





"A Place to Belong, A Community to Love"









WELCOME TO

AASHA

ASHIYANA ATITHI SEVA HRIDAY AASHRAM

Caring for Our Elders with Love and Respect



About Us

where we believe that every senior deserves a safe, loving, and vibrant community to thrive in. Our mission is to provide a nurturing environment that honors the dignity, wisdom, and individuality of each resident.

Our Mission

"Our mission is to provide a safe, nurturing, and dignified environment for the elderly, where they can experience comfort, care, and companionship. We are committed to promoting their well-being through personalized care, emotional support, and fostering a sense of community, ensuring they lead their golden years with respect, joy, and purpose."



Our Vision



we envision a place where seniors can embrace their golden years with joy and fulfillment. We aim to create a home that fosters companionship, respect, and engagement.



Our aim at Asha Age Old Home is to create a home-like environment where the elderly can live with dignity, receive comprehensive care, and enjoy their later years in comfort and peace. We strive to address their physical, emotional, and social needs, offering a supportive space that encourages independence while ensuring their safety and well-being."







AASHA

How to join Member

REGISTRATION E-PIN-RS.10

DONATION AMOUNT-RS.100





POSITION	MEMBER	x	DONATION RS.	=	TOTAL DONATION RS.	_	UPGRADE DONATION RS.	=	RECEIVED HELP RS.
1	2	X	100.00	=	200.00	Ξ	200.00	=	ZERO
2	4	X	200.00		800.00	-	600.00	=	200.00
3	8	X	600.00	=	4800.00	-	4200.00	=	600.00
4	16	X	4200.00	=	67200.00	-	42000.00	=	25200.00
5	32	X	42000.00	=	1344000.00	-	420000.00	=	924000.00
6	64	X	420000.00	=	26880000.00	-	4200000.00	=	22680000.00
7	128	X	4200000.00	=	537600000.00	-	NOT	=	537600000.00

TOTAL RECEIVED HELP RS. 561230000.00





TOTAL RECEIVED HELP

FIFTY SIX CRORE TWELVE LAKH THIRTY THOUSAND ONLY



Contact Us











9229510609